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A Solution to Problem 1

2-consensus on an initialized queue

procedure cons;(Q, R, val;)

R [I] — val,-

qi — Q.deq()

if g; = "winner”then return val;

else return R[1 — i

Q initialized to ( "winner”, "loser”).
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A Solution to Problem 1

2-consensus on uninitialized queues

process p; process po

init init

Ri[1] Ri[2] Ra[1] Rz[2]

ready; ready,
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A Solution to Problem 1

2-consensus on uninitialized queues

procedure propose;(val;)

Q;.enq(’winner”)

Q;.enq("loser”)

ready; — true

fork — 1,2do

L if ready, then val; — cons;(Qy, Rk, val))

return val;

Uses: queues @ o (initially empty), registers Ry 5[1, 2] and registers
ready; , (initalized to false).
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A Solution to Problem 2

n-consensus on uninitialized objects

procedure propose;(val;)

Q;.init(q)

ready; — true

fork—1,...,ndo

L if ready, then val; — cons;(Qy, val;)

return val;

Where: Qq ., are instances of Q initialized to L and cons;(Q, val;) is
an n-consensus algorithm (at process p;) that uses object Q initialized
to state g.
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